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What are perspective and parallel projections?

Explain.

ydufded 3R Nl YIoaRE w7 27
ATEAT BN |

Explain the working of shadow mask CRT with

diagram.
8
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What is transformation? Explain translation and

rotatoin along with their matrix representation in 2D.

SRS THIA dI1 282 ¢lade ud gouia &t
et Aferg RASRIE & 91 o |

What is clipping? Explain Cohen sutherland line
clipping algorithm. 8
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Computer Graphics
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol & SR <, TAS U &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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What is homogenous co-ordinator system? Explain.

gaforaa aieif$aer Rivea war 27
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Describe about pattern filling techniques.

ded w9 @) dPNPd > IR A Ui N | 4
OR (312141)
Discuss in brief about inverse transformations.
Sdel gRadeT @ IR 4 "iéra 9 =@=f a3
What is curve fitting techniques? Explain.
4
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(31) 60 frames/ sec

(9) 80 frames/ sec

(&) 30 frames/ sec

(%) 100 frames/ sec

In number of pixel stored in the frame buffers
of a graphics system is known as:

(a) Resolution

(b) Depth

(¢) Resilution

(d) (a) and (b)

UThad Rived @ B 6 7 U
fo G & | dd a—

(31) XopgEsT

(@) Swr

(&) fSrga

(2) (@) 3 @)

The most commonly used input device is:
(a) Mouse

(b) Keyboard

(c) Scanner

(d) Printer
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(xx) 391 orsd & RED ®U 2 vi) e Y@ & fov I REE e Iaxiy
(@1 x=1f(t), y=g(t), z=h(t) BT 2—
(9) x=ao0,y=bo,z=co @) y=mx+b
(&) f(t)=0, g(t) =0, h(t) =0 (@) y=bx+m
(?) 3719 | PIs T8

(|) y=xx+m
(®) y=b+mm

(vi)  On raster system, lines are plotted with:
(a) Lines
(b) Dots
(c) Pixels
(d) None of these

(vi) XIvex Red ¥ @ «f g & v

.......... A B
(31) @
@ fag
GROUPB (=) Rraal
(@) 37 A BIg T
Answer all Five Questions.
4x5=20
afl uig yo i & SaxX o (vii) DDA Algorithm stands for:

' o ' (a) Digital difference analyzer
2.  Write applications of computer graphics. (b) Direct difference analyzer

4 (c) Digital difference analyzer
YR YMfbad 1 SuAIar 9adrg | (d) Data difference analyzer
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@1 frawa

(@) urr

(M) wic

(%) 399 & dIs T8l

A three dimensional object can also be
represented using:

(a) Method

(b) Equation

(c) Point

(d) None of these

e 9 il avg & RUSi< & @
forg ... ®T IYART B B

(w) fag
(€) 39 9 BIg €

The sweep representation of an object refers
to the:

(a) 2D representation

(b) 3D representation

(c) Both (a) and (b)

(d) None of these

0T6017
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#Afged wu A SI—emarfl agae
BT 23—

(@) PP=P+T
(@) P'=P-T
() P'=P*T
() P =P

To generate a rotation, we must specify:

(a) Rotation angle 6
(b) Distance dx and dy
(c) Rotation distance
(d) All of the above

U eI SA A ® fog &
fafdse o =nfae |

(31) AT DIvT O

@) & dx 31 dy

@) 5h AT

(%) SwRiaa g+

The two-dimensional rotation equation in the
matrix form is :

(a)P'= P+T
(b) P'= R*P
(c) P'= P*P
(d) P'= R+P

P.T.O
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Discuss about different input modes used in

interactive computer graphic

gcrfded e UTfhad A IUANT fHy oM
aret fafi=1 3ige Wi @ 9N # =af W |

Explain:

(a) Transformation
(b) Translation

(c) Rotation

(d) Scaling

8
AT HI—
31) uRad=
(3) srgare
(|) e
(7) wfer
P.T.O
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Discuss about different input modes used in

interactive computer graphics

gcrfdea e UTfhaw A SUANT fHy oM
aret fafi=1 g91Ye Ais @ IR # ==f X |

Explain:

(a) Transformation
(b) Translation

(c) Rotation

(d) Scaling
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31) uRad=
(8) srgare
(3) e
() wfer
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